ОЛИМПИАДНЫЕ ЗАДАНИЯ ДЛЯ УЧАЩИХСЯ 10х КЛАССОВ

I. Open the brackets using the correct form of the verbs.
Stephanie MacGuire, the writer, has had an unusual life.
When     she     was     very     young     Stephanie’s parents 1) ______ (murder) by guerrillas in South East Asia, and she herself 2) ______  (bring up) among them for several years.

When she was ten, she 3)  ______ (find) by aid workers, who 4) ______ (arrange) for her to return to the UK, where she 5) ______ (receive) by her only living relatives, her aunt and uncle. They 6) ______ (agree) to look after her, and though she 7) ______ (not, maltreat), they 8) ______  (not, give) her any affection.

At first Stephanie 9) ______ (hate) England, partly because she 10) ______ (not, speak) English at all well.

After two years she 11) ______ (send) to a well-known boarding   school, where fortunately   she   12) ______ (befriend)   by   a   highly   sensitive   teacher,   Jayne   Abbott,   who   13) ______ (understand) that she 14) ______(throw) into an alien environment.

Under Jayne’s influence Stephanie 15) ______ (adapt) to    life    in    England;    indeed,    her    knowledge    of    English 16) ______  (grow)   so   fast   that   by   the   time   she   17) ______(reach) her sixteenth birthday, her first short stories 18) ______ (already, publish) in the Rambler.

Since then her literary career 19) _____    (be) a great success. Six of her novels 20) _____ (publish) so far; the  first  one  21) ______  (deal)  with  her  childhood experiences  in  South East Asia,  and all her subsequent novels 22) ______   (base) in England. Last year she 23)______ (short-list) for the Booker Prize.

We   are   sure   that   in   the   coming   years   many   people   24) ______  (inspire) by her influence, for even today she 25) ______    (regard) as one of the great courageous women among her contemporaries.

II. For questions 1-7, complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Do not change the word given. You must use between two and five words, including the word given.
1. You must do exactly what the manager tells you.
carry

You must____________instructions exactly.

2. I am totally convinced that you’ll pass the exam.

chance

In my opinion, there ____________ your failing the exam.
3. Not many people came to the wedding.

number

Only………………………people came to the wedding.

4.  I haven’t got any money left.

run

I_________________________money.

5. The play was shorter than we had expected.

last

The play didn’t ____________ we had expected.

6. I couldn’t concentrate fully because of the noise coming from the next room.

hard

The noise coming from  the next room ____________  to concentrate fully.

7. The twins described their experience to me in detail.

description

The twins gave ____________their experience.

III. For questions 1-16, read the text below and think of the word which best fits each space. Use only one word in each space.
 NICER THAN CHOCOLATE

Sales of chocolate in Britain have fallen (1) ______the first time in 50 years. According to the survey, this is largely (2) ______ children prefer to spend their pocket money on mobile phones. Schoolchildren who (3) ______ to visit their local shop to buy sweets are now buying top-up cards for their mobiles instead, (4) ______ that they can send their friends text messages. Sociologists see this move away (5) ______ sweets towards the  use of  mobile telephones   as   an   example   of (6) ______ teenage life is changing as a result (7) ______ new technology.

14-year-old Susannah Hedgely, (8) ______  has run up a bill of nearly £300 on her mobile phone in the past two months, (9) ______ majority of it on texting, is typical of the trend. Almost (10) ______ exception, the teenagers in her circle of around 50 friends own mobiles.

Susannah was originally given one so she could (11) ______her parents  know when she was (12) _____ to be late home from school, but she now  sends  up (13) ______ 60 text messages per day “Rather  (14) ______  go to the shop and get a chocolate bar to cheer  (15) _______ up, I ring my friends and go out to meet them,” she says. “I (16)______ once a big chocolate eater, but now I only have about one chocolate bar a week.”

IV. Use the word given in capitals at the end of each line to form a word that fits in the space in the same line.
JOGGING IN THE PARK

Despite the increasing (1) ______of physical exercise         POPULAR

in recent years, only 10 per cent of British people have taken out

(2) _______    of a gym. One reason for this,           MEMBER

(3) ______suggest, is that gyms may have a negative          RESEARCH

psychological effect on people. In tests, (4)  ________        NATURE

environments were found to be far more (5)______ than    BENEFIT

the artificial surroundings of a gym.

Maybe this provides an (6) _______ for why there has       EXPLAIN

been a steady(7) ______in the number of people to be seen            GROW

jogging in and around city parks in recent years, (8) ______           LIKE

the gym, where people are limited to a certain range of machines,

or (9) ______classes, outdoor activity has no boundaries,   FIT

and parks are (10) ______ becoming places of         INCREASE

adult, as well as child, recreation, (11) ______ in     SPECIAL

the warmer weather.

V. Choose the most suitable alternative below to fill in the gaps in the following text (A, B,C or D).
CHEESE
Most of us take cheese for (1) ______. When we go to the supermarket, we expect to see a (2) ______of different cheeses to choose from.

But have you ever wondered how these differences (3)______     about?

Cheese has been produced and eaten for many thousands of years. No one knows for sure how we (4) ______ how to make cheese, but some animals, like lambs, produce cheese naturally in their stomachs. It’s possible   that   our  (5)  ______  found   this   cheese-like   (6) ______ in the stomach of a dead lamb or calf and liked the taste.

Certainly, cheese is very practical. Milk (7) ______very quickly, but turning it into a (8) ______means that it can be kept for much longer. Cheese is also healthy, being full of protein, calcium and (9) ______acids.

Cheese can be made from the milk of animals such as goats, sheep, cows, and (10) ______ horses and reindeer. By (11) ______ the most popular cheese in the world is Cheddar, an English cheese made from cow’s milk. The amount of water and fat used in the production of cheese (12)______ whether it is hard or soft. The flavor of cheese (13) ______on the kind of bacteria used in the ripening process. All cheese has bacteria in it, but this is not (14)  ______to humans.

	1
	given
	granted
	read
	said

	2
	sort
	range
	variation
	distribution

	3
	take
	are
	go
	came

	4
	discovered
	invented
	worked
	succeeded

	5
	elders
	descendants
	ancestors
	peers

	6
	sort
	material
	substance
	type

	7
	goes off
	takes out
	takes in
	ends up

	8
	figure
	form
	shape
	solid

	9
	famous
	noteworthy
	essential
	significant

	10
	still
	even
	yet
	too

	11
	far
	long
	high
	deep

	12
	determines
	means
	decides
	says

	13
	derives
	results
	relies
	depends

	14
	bad
	harmful
	destructive
	unhelpful


